F19E SYHRETILR (—HB)

HWEIE:20194108138(A). 11B48(A#) FHB11/108(A)

W5 VEYTL(FLD)

ZATERE 2 —F  No.

1

1

i BE

A FF

1R

2R

2

=i E58

=fe RE

3

A shst

K HCH

7-6(3)

4

HH &4

g5mE R

iSH BT

6-1

5 K5

HI MREF

R EZ

7 1B

0

mF KFHE

AR B

R T

HFE EKRF

10

w"E Bk

WH R

11

AR Kt

it Fifd

12

ATE K%

*XBE ZITH

6-2

/-5

6-4

13

WLIE #897T

MR BEF

6-2

14

R LS

mH BF

15

INR F—

NG BEF

16

ik F58

Fik thT

6-2

17

K& #

KE B

18

s BEX

S R

6-3

7-6(4)

19

ThE BEE

ThE BF

20

HE BE

Hh &g

21

At v5ER

MA #&

6-0

22

BE 2

ShT ImAE

23

fE 4+ IEF]

EH BET

6-2

6-0

24

A Kt

R =L

25

N SIPN

INE BEF

WO

6-3

26

B X

0O ZLUF

6-2

6-2

6-4

6-3

6-1

/-6 (1



F19[E IYHIRFTILR (ER)L)
WEIR:2019%108138(R). 11 B48(A#) FiEH11A10B(H)
B&E: V(YT L(FLD)

ST S —F No. IR 2R QF SF .
1|1 | BRFAz REHI
) |[BRE  BAET -
3 |/INE #5% JTH % o
AT ETE L s =
5 |FR)I E— B =M
6 |Mth & Mt #BF o0
78K T BHAEE ot o)
5| 8 |l AR I AE
o [iEAt E— ik BE =
10 /NE BY= /A BT 02
0% B— Lk EE o o0
12 |1k E ' XEF =
4l 13 | i BUE Hith TE | 75
3| 14 |45 £ H@A KT
5 |E FE 1 B =
16 |EA HEL  EA HiK o
7 |ER BT AR E£ET oo =
18 |FEM B EH BT
10 A Bk A BRTF o
6| 20 |k & KR YDF 00
1| 21 BRIz HEA BE o o0
22 |HBBRZ EEBILS 6-1
23 |taAK #57  EA R
2 |KE % ER HE ot —
5 IEFwE=- HLAER 6-3
% |27 HE FHETF —
o| 27 |BK R HEE




F19E IYHRFTTILA (RTFV)

WEIR:2019%108138(R). 11 B4B(A#H) FiEH11A10B(H)

W& DEYT L (F L)

7-6 (6)

SR S—F  No. 1R QF SF E

1| 1 |48E 8 I A

2 |l RE Jg B4 63

2 |en 2hBR A mEZF WO 6-4

4 |#EF IE hE BF

5 |TEFEA LA RF o1

6 |FHE REN FkET 6y

7 |EiE BRA  FH &

¢ |ER =i AARHMF 6-4
2| o |£A M HE BT o1




